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WAAKAFH 11 ERI67HRATH (FFEELL841E)

2 EREFTIR BIE A KR (b5 2 H F A D (H29.6.13:T1E)
7 3 S A OS3-7 1 RAJ—EBALCNLIB MEETA

No. [BERER| T [wesn|wux] B [ & &it |onEnR|@xAH| @#EE | OEAE
1| dbiEE | 34 1 129 | 15 180 1 36 20.6%
2| EHFE [ 10 22| 8 41 1 2.4%
3| &FR 14 15 | 4 34 4 11.8%
4 BHE [ 13 1 20 | 1 36 4 11.1%
5| #HEHE | 13 9 3 26 6 23.1%
6] WHE [ 13 19| 3 36 1 8 25.0%
1| BREE [ 13 31 | 15 60 8 13.3%
8| ZWE [ 32 10| 2 45 3 6.7%
9| HKRE [ 14 11] o 26 4 15.4%
10 HEE | 12 15| 8 36 2 5.6%
1] BEE | 39 1 22 1 64 10 15.6%
12| FFEE | 36 1 16 1 55 1 2 5.5%
13| Rm#R | 26 23 5 8 63 18 28.6%
14 #WZJIE | 16 3 13 1 34 1 7 23.5%
15| #FRE | 19 1 6 4 31 12 38.7%
16] EWE | 10 4 1 16 1 6.3%
17] RIE | 11 8 0 20 3 15.0%
18| BHE 9 8 0 18 0.0%
19] WWHE | 13 8 6 28 5 17.9%
200 EFE [ 19 23 | 35 78 1 14 2 21.3%
21 IKRBE [ 21 19 ] 2 43 13 30.2%
22| #EE [ 21 2 12 [ 0 36 6 1 18.9%
23| EHIE | 37 1 14 [ 2 55 3 5.5%
24| =&E [ 14 15| 0 30 1 14 50.0%
25| FEE | 13 6 0 20 1 5 30.0%
26| R#ERF [ 14 1 10 | 1 27 8 29.6%
27 KBREF | 31 2 9 1 44 2 4.5%
28] EER | 28 1 12 [ 0 42 5 11.9%
29 =zpE | 12 15 | 12 40 1 4 12.5%
30| FOFRLE | 9 20 1 31 2 6.5%
31 ERE 4 14 1 20 4 20.0%
32| SRE 8 10 [ 1 20 4 20.0%
33 MR | 14 1 0] 2 28 8 28.6%
34| ILEER | 13 1 9 0 24 5 20.8%
35| WwAE [ 13 6 0 20 1 19 100.0%
36| BER 8 15 [ 1 25 4 16.0%
37| EBIE 8 9 0 18 2 11.1%
38 BRE [ 11 9 0 21 3 14.3%
39| =&E [ 11 17| 6 35 1 18 54.3%
40| fEREIE | 26 2 30 | 2 61 22 36.1%
4 EEE | 10 10| o 21 8 38.1%
42| EBE [ 13 8 0 22 4 18.2%
43 RBEXE [ 13 1 23| 8 46 21 1 46.8%
44 KHE | 14 3 1 19 1 13 73.7%
45 EiIHE 9 14 ] 3 27 5 18.5%
46| EREE | 19 20 | 4 44 11 25.0%
47| piBER | 11 1] 19 42 2 4.8%

Al 47 771 20 23 | 744 ] 183 1788 11 363 4 21.1%

XIS 1T A A A FAEBIETEABIOWEAIZHI VAL TEHE G(EAE)=(Q+B+@)+ (D+@)




